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Question Number : 1 Question Id : 4509386241 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

If a function f: R — R is defined by f(x) = x¥ — 1 then f is

f: R — R &) 00060 fx) = 1% —a T A 3D00268, f &b

Options :
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one — ong but not onto
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Question Number: 2 Question Id : 4509386242 Display Question Number : Yes [s Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time : 0

Hflx)=+vx—1and g{f(x)} =2+ 2vx + 1 then g(x) =
F(x) = VX — 10680 g{f ()} = ¥+ 23 + 1 ®00@ g(x) =

Options :
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(x — 2)?
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3_ 4
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Question Number : 3 Question Id : 4509386243 Display Question Number : Yes [s Question
Mandatory : No Calculator : Nene Response Time : NLA Think Time : N.A Minimum Instruction
Time: 0

Eor all posttive miwgers "' if 3055112 s divisible by k. then the muanber of prime mmbers
Less than or equal to k 5
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Question Number : 4 Question Id : 4509386244 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Tirme : 0
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Options :
G
1. &
8
2. .
0
3, ¥
—4
4. 5

Question Number : 5 Question Id : 4509386245 Display Question Number : Yes [s Question
Mandatory : No Calculator : None Response Time | N.A Think Time : N.A Minimum Instruction
Time: 0

If the deternsinant of 4 3% order matnx Ads K. then the sum of the determunssts of the mamees

(44") and (4-4") s
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Question Number : 6 Question Id : 4502386246 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time : 0

While solvig a svstem of linear equations AX = B nsmg Cramer's ube with the usnal notation 1f

1 11 - | .
A=121 -1 21:4, =4 -1 2| and X=|2| thena®+ f° =
-1 1§ 1115 B
% A7 Aa0S0m S AX = B A 1506 Sl oo rbodhad, wrrrde
3 1 1 1 & 3 o
ROSENO8S A=|2 -1 2:4,=|4 -1 7 <wbdin X= [2 @onE
-1 135 11 1 5 i
ﬂl_.ﬁi..
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9
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Question Number : 7 Question Id : 4509386247 Display Question Number : Yes [s Question
Mandatory : No Calculator : None Response Time : NLA Think Time : N.A Minimum Instruction
Time : 0

If real parts of v—5 — 121, v5+12i are positive values. the real part of v—B — 61 1 a negative

B2+ 5412

y=8=6i

then Jo+b =

valuzand @ + (b =

v—5— 120, V5121 & Gln%) aread 2D Sednmisen, -8 — 6 Thu%L s 27fio

V- 1h+*341
N

2060 e dcin a +ib = - 0@ Jg+h=

Options :
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Question Number : 8 Question Id : 4509386248 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time : 0
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The set of all rzal vahues of ¢ for which the squation 22 + (4 — 31) + (44 31 )2+ =0 rapresents
a cicle 15
zi+ (=305 + (H30zde=0 AalB080 28 SyErhy Ardotittur goff « Sus

IR Yol aee) €2 Adioed
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Question Number : 9 Question Id : 4509386249 Display Question Number : Yes [s Question
Mandatory : No Calculater : None Response Time : N.A Think Time : N.A Minimum Instruction
Time : 0

HZ=x+iv 52 complex numbes, then the mumber of distmet solutions of de equation
2 +i=0is

2=y iy 08 D08 dop; wond, 22+ 7= 0 im0 Gudy HDS argdde
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Question Number : 10 Question Id : 4509386250 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : NLA Think Time : N.A Minimum Instruction

Time: 0

If the roots of the quadsatic equatton +* — 351 + ¢ = 0 are m the mio 2.3 and ¢ = 6K. then X =
F -3 +e=0 SO Hd¥tno Gl Sreren 23 208 § Amyon S
o=6K 00, K=

Options :

i 49
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Question Number : 11 Question Id : 4509386251 Display Question Number : Yes Is Question
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Mandatory : No Calculator : None Response Time : NLA Think Time : N.A Minimum Instruction

Time : 0
: : . x+4
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Question Number : 12 Question Id : 4509386252 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : NLA Think Time : N.A Minimum Instruction

Time : 0
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1f the som of two toots o, [ of the equation +* = 1 = 8x* 4 2x + 12 = 0 is zero and
v, 8 (¥ > &) are its other roots, then 3y + 24 =
v F 8% 4 Ix 4 12 = 0 ebile0 GIo%) Dol Areren o f © Fudo )

mayesr oSG ¢, 8 (y > §) &0 C7R GRoY), Bl direrTB, 3y +20 =

Options :
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Question Number : 13 Question Id : 4509386253 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

[l = k) = 0 represents the ransformed equation of the equation

fleb =2+ 20— 19" -8 + 60 = 0. Tf thus transfonmation removes the fem contammg
o {(x) = 0, fien i =

flx)=x*+20 - 19? — B2+ 60 = 0 Ty rarosd Addtao flixth)=0. &
SBS0R Fi) = 05504 ¥ SO S SeRw, k=

Options :
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Question Number : 14 Question Id : 4509386254 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : NLA Think Time : N.A Minimum Instruction
Time: 0

The anmber of different ways of preparmng a garland by usmg 6 distmet white roses and 6 dsstmet

red roses such that no two red roses come together 15
By = o o o ' A o ] £ o = a
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1 2o o LT . o 'y = "
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Question Number : 15 Question Id : 4509386255 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : NLA Think Time : N.A Minimum Instruction

Time : 0

The ammber of ways o comumatres of § members can be formeed trom a growp of 10 men and §

wieanen such thar the conmmantee contains at most 5§ men and at leset 5 wonien 15
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Question Number : 16 Question Id : 4509386256 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
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[t all the letters of the word CRICKET are permuted m all possible wavs and the words (with o
without meanng) thus formed are amanged m e dichionny order. then the rank of the word
CRICKET 15

CRICKET Hd0dodd sfrodyods rdddh; ey doerr edoih
SyBoin & Dédom SO0 S (sdand) D ik #D) Aot | f}:nc:r:f
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Question Number : 17 Question Id : 4509386257 Display Question Number : Yes Is Question
Mam:lnl:nryr : Mo Caleculator : None ll'.gspunu Time : N.A Think Time : M.A Minimum Instruction

Time : 0
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The square root of mndependent term i the expansion of | —+ Jz) =
: 10
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Question Number : 18 Question Id : 4509386258 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time : 0

The co-efficient of x°in (3 4+ x +x%)* is

(3 + x + 2% DGy 5 theadan
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Question Number : 19 Question Id : 4509386253 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : NLA Think Time : N.A Minimum Instruction

Time : 0

The absolure value of the difference of the cosfficients of +* and +* m the expansion of

&r’
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el 2 AT a8 a)

Options :
13
4
1.4
1
£, ™ %
9
1
3 =
1
g, &

r 9 4 Roen b R e T e ] i = S T iy T '-_"
aid) aedteciod » sodcln o sy fheee St Zchan Glos),

Question Number : 20 Question Id : 4509386260 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time : 0

tamn G° tan 42° tan 66° tan 78° =

Options :
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Question Number : 21 Question Id : 4509386261 Display Question Number : Yes Is Question
Mandatory ;: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time : 0

The maxmmom value of 12sinx —5cosx +3 15

12 sin x — Scos x +3 G305 A0 Dews

Options :
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Question Number : 22 Question Id : 4509386262 Display Question Number : Yes Is Question

Mandatory ;: No Calculator : None Response Time : N.A Think Time ;: N.A Minimum Instruction

Time : 0

sin*76 + sinl6 — sin 76 sin 16 =

Options:
0
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Question Number : 23 Question Id : 4509386263 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time : 0

i R — E
L +siny+sin v+sin® v 4o+ =44+ 2\Fmd 0 < v <mx # —theny =

l4+sinx+siny+sirx++oo=4+23n00nl0<recmas
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24 Question Id : 4509386264 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : NLA Think Time : N.A Minimum Instruction
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Question Number : 25 Question Id : 4509386265 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Cosh™ 2 =
Options :

log(2 +v3)

log(2 4+ v5)

-

log{2 — v5)
o

log(2 + VZ)
d_l wa:

Question Number : 26 Question Id : 4509386266 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time : 0

In AABL, cos A+ ecosE 4cosl =

AABC -.“f!-é. cosAd +cosH +cosl =

B —— - -l
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Question Number : 27 Question Id : 4509386267 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

ImaAABC ifa=26,b= 3D,cuﬁc=§lhencz

AABC & a=26b=30cosc= % WOND ¢ =

Options :

b
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Question Number : 28 Question Id : 4509386268 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : NLA Think Time : N.A Minimum Instruction

Time : 0

z abc
If H is onthocentre of AABC and AH = x; BH = v; CH = 2 then— =
IryE

; ’ , h
AABC & H ©0280[¢50 8050 AH = x; BH = y;CH = 2 89008 — =

xyr

Options :

_ |

'| =
at+bob+c
Xx+y+z
a b ¢
L] B =2

a9
ab+ be + ca

Xy + ¥z 1+ 2x

Question Number : 29 Question Id : 45093286269 Display Question Number : Yes Is Question
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Mandatory : No Calculator : None Response Time : NLA Think Time : N.A Minimum Instruction
Time : 0

Tn a regular hexagon ABCDEF, AR =7 and BC = b, then FA =

&8 (S )2t ABCDEF shoch, AR =7 So8an BC = b on@ FA =

Options :

a—b
1, ¥

a+b
2. B

b-a
3. -

2h—a
"8 -

Question Number : 30 Question Id : 4509386270 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

If the points with position vectors (af + 107+ 13k, (6f + 11 + MI—'_:I.EF +fi- Ei_'} are
collieat then (19 — 68)* =
(wi + 107+ 13k), (i + 11] + 11?].[;? +hj- EE) o WP Addmur fo Dodhdgen
SBRCTEE (19 -6p) =

Options :

16

1. =
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Question Number : 31 Question Id : 4509386271 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

If [, §.h be mumally orthogonal vectors of equal magnimdes, then the angle berwesn he
vectors £+ 7 + hand s
F, gk e aard 8irao o 3800 woadlbden mopd F+i+h 00k h
Ao il S0
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Question Number : 32 Question Id : 4509386272 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Let, b be two unit vector. 1f =7 + 2b and = 57 - 4b e perpendicular to each other, then

the angle berween @ and b s

b &) Dodh clmrded Adden. F=7+2b LAk d =574 &0 a0 oo

Abden wowd g, b e dc fio il
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Question Number : 33 Question Id : 4509386272 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
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If the vectors & = 2f }’rir_.f:::_-! 2f . =30 +pj +5k are coplanar then p =

i=Zi—j+kb=i+2-3k #=3+pj + 5k SOH¥en S urBdp =
Options :
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2. =
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e
41
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Question Number : 34 Question Id : 45093856274 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
For a st of observanions. if the coefficient of vanation 16 295 and meanis 44, then the vanancs 1¢
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Question Number : 35 Question Id : 4509386275 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : NLA Think Time : N.A Minimum Instruction
Time : 0

[1 3 letters are to be placed m S-addressed envelopes, then the probability that ar lzast one lefter 15

placed m the wrongly addressed envelope i

Sdormir $ORY § Led § adoredh domrd ndn o8 dido &)

Sdiamir e 508 goder Sordd

Cptions :
1
1. = K
1
120
2_ e
4
3. )
119
120
g+

P . . - . . . .
i“-“m_“--- (A B L 1 o &8 R L L R & A 3 L B I N A R L J A &8 & R 2 3% R 1. R L _B QL_Q& A R L L A& 4 R & L L B 4L 4 2 _F_ A& 4 A & R L _ &R _J2_ R Q4 % L & R _R_J2 L .} “-"-‘

e e



Question Number : 36 Question Id : 4509386276 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : NLA Think Time : N.A Minimum Instruction
Time : 0

A student wnfes an exammaton Which contams eyghit e or false questions. If be ancwers six or

tmore questions coerectly, be passes the examination, If the student answers all the questions, then

the probabulity that he fals 11 the exanmmation 15

oy i i
28 Deri0 8 24 B day) Aclrrraren SORS S35 (Tardy. H05S dedfieh

AO0TTO0T) 6 B 8 105 S0 Mol o). ol ef)

" T T P PN S
Ao NPT 77, @ad H0E S Dowd sotrds Hoird

Options :
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Question Number : 37 Question Id : 4509386277 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : NLA Think Time : N.A Minimum Instruction
Time: 0
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1 i 3
The probabuliny that a person goes to college by car 15 E: by I:uuag and by train 15 . reapechively.

2 1
The probabahnes it he reaches the colleme late of he takes car bus. wun are ;.% .uu:!;

respectively. If he reaches the colleze m tune, the probabibity that he mavelled by car 15

28 528 Swrrol S 30,08, aind 39,08 Hboh Dod 3¢mas
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Question Number : 38 Question Id : 4509386278 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : NLA Think Time : N.A Minimum Instruction
Time : 0
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B and R try to Lt the same targer one after the other. If thew probabiliies of lunting the target

% % ; respectively, then the probability daar the varget e Lur by P or  but not by R =

e
P Q S0f0in R o 28 oD D000rnE 2508680 HESHT |Hobeyarh

& osid) Dhodded o0 Sozrdden Stuim wonB PO @ on &

|.|_|h.'|
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Options :
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Question Number : 39 Question Id : 4509386279 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : NLA Think Time : N.A Minimum Instruction
Time : 0
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A box contams 207 defective bulbs. Five bulbs are chosen randomly from tlus box The
probabality that exactly 3 of the chosen bulbs are defective 1s

8 WS 2% SArranddd 2eme ST SANE 20008
cirdhacd 8o Qodusarydh.  WDochEN) uemd 6T 3 penm

S SEPADROMT AOEPDE Ho2mste

Options :
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Question Number : 40 Question Id : 4509386280 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : NLA Think Time : N.A Minimum Instruction

Time : 0

If a random vamable X satisfies possson distnbution with a mean value of 3. then probabulity that

X<i
§ @08 abdpdaln ™SOS diRSyDS QETT X o drETR)

o |

08 e, X < 3 Thg) dozrdid

P . . - . . . .
"- L & b L A &8 R QL A 4 o L A 1 & L 42 4 &R L L 4 2 3 L % L R 4L L L % R _& 4 R 0 1 R 2 8 L L & R QL J1 R R 4 A & 2 L 3 2 3 L L 4 4 R & 2 LR _§&_ L A& 2 & L & L R _J L _ ---‘

K R 3 R K K I 2 2 3§ _E_ 2 & I _F_2 2§ 2 =% R _» 2 =~ 4 R & X E Lt 4 I R B _J2 L 2 E X N _E__L 3 31 8 L o 32§ F_R_§ L L L § J



G6e”

Ge

Question Number : 41 Question Id : 4509326281 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time : 0

The equation axy + byz = cv represent the locus of the pownts whuch lie on

-]
e

Aa0EG80 axy + byz = ey Ardod Dodh A alody Dochden
Options :

zv-plane or on the planes perpendicular to zv -plane

-0 BT zv SerdE LoD S08 éo0 0 Gotran

1.

on the planes perpendicular to x-axs
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on the hnes perpendicular to zv-plane
zv 5o 708 L1020 GOB Do 2 Gotran

on the lmes perpendicular to xy-plane

1y ¢berDE eyonor Gofl Bwe Dd dodron
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: Question Number : 42 Question Id : 45093286282 Display Question Number : Yes Is Question
]

} Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
1 Time:0

I

t Ifthe axes are rotated thwongh an angle 45° about the ongm m anticlockwise direction, then the

]

: mansormed equation of v* = 4ax 1

] : " s

1 drododhy Gyl oFod edndtid 1 fhod |Fheo TR, v = 4
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Options :

(x+v)2=4Za(x — ¥)
1. ¥

(x — y)? =4\ 2alx+y)

(=) = = )
Y

4
()% = = (x—3)
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Question Number : 43 Question Id : 4509386283 Display Question Number : Yes Is Question
Mandatory ;: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time : 0

Tfthe lmes vty —d=0 x—ay + 10=0. fx+ly+4=0amd In+pb= O represant the sidec of a
square, then af(ke4)* =
Bty =4=0,x—ay + 10 =0, S+ 2p+4=0 00000 3rtrk= 0 20 2.5 Dénd|H0 dind)

o v
AN :’_::L'a'?r.-"&' AT ﬂ,ﬁ'i’_'rl 1
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Question Number : 44 Question Id : 4509386284 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time : 0
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A 15 the pont of mtersection of the lmes 3y + v — 4= 0ad x — v = 0. If 2 lme having negative
skope makes an angle of 45° with the Iine x — 3y + 5 = 0 and passes through A then its equation
15

Py

I+ y—4=0:0800 1y =0 G0 Dok Doche A 2nerd e S0

2f ndn - 315 =000 1 Too DT Ao SFd s da ahi¥dne

Options :

r+y=2
1. %

x4+ 2y =3
2.

4x + 3y =
"__‘-ll -

x+3y =4
4, ®

Question Number : 45 Question Id : 4509386285 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
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Nt = ay = 2y = represents two lines Ly and Lo 2¢° = Sxy = 25" = x#7y = 3 =0 represents
another wo lives Ly and La. Let A be the pomt of uversection of lises Ly, Ly and B be the pomt of
nfersection of les L and La. The area of the tnangle formed by Imes AB and Ly, L4 13

2 = dyy - 2% =0 Seb¥de0 Bodh Daen Ly, Ly ol Aol

2 dap— 2 — oy — 3= 0 endtie0 b Bodk Bpen Ly, Liesed ardaod. Ly,
L3 & 00 Hoths A S0 Ly Lyt o Hochd B adioorro. Dpen AB,

L Leod M3 Biba 3Teo

Options :
3
10
1.+
3
5
_2_ -
15
2
5 B
5
2
‘1_ e

Question Number : 46 Question Id : 4509386286 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
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The erea of the triangle formed by the pair of linss 23¢” - 48xy + 3y = 0 with the line
it dvdsi=0n

2 ] - = 5 ok o My | = . e i s o
234% - 4y + 3y = 0 2040l 2rydvt$=0 Do 00T (B2 FTO30

.

Options :
1
If‘rwﬁ
‘I -
25
133
2.
7
13 x-!f_.i
3_ a
9
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Question Number : 47 Question Id : 4509386287 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time ;0

If & 1 the angle between the tangents drawn from the pont (2, 31 1o the curcle
Pyt =64 4r412=0.then 8=
4yt -6 +dy + 12=0 SR8 2, 3 Dochisy sbod Fdd 2a0) Cae Sl

B0 § wond. g =

Options :

18

P . . - . . . .
i“-m-ﬂ--- (A B L 1 o &8 R L L R & A 3 L B I N A R L J A &8 & R 2 3% R 1. R L _B QL_Q& A R L L A& 4 R & L L B 4L 4 2 _F_ A& 4 A & R L _ &R _J2_ R Q4 % L & R _R_J2 L .} ---‘

e e



5
1 S
Cos (13)
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e
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ran(33)
an 12
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Question Number : 48 Question Id : 4509386288 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : NLA Think Time : N.A Minimum Instruction
Time : 0

H2x=3r+3=0 ad v4+2v+k=0 are conugate lmes with respect 1o the circle
il a : 'k k
S+ + By —6v— 24 =0, then the leagth of the tangent derwm from the pomt {:.ﬂ to

e circle S5=015

S 4y 4 Br—6y—24=090 Olt 2r -3y +3=008d0 x + 2y + k=0

. o a fE K q i
e a300i; E%z-n@sﬁ, §=0o)BR8 {; 'E] Do o id Hyt:dn a4
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Question Number : 49 Question Id : 4509326289 Display Question Number ; Yes Is Question
Mandatory : No Calculator : None Response Time : NLA Think Time : N.A Minimum Instruction
Time : 0

5

If Q (h ki 15 the mverse pont of the poumt P (1. 2) with respect to the crcle

4y -dr4l=0thenh+k=

') o - 4 L = ) ik, Ay WAL !
4y =dr 41 =0 S0 Gals PL D) Blodhey Gludy Db 2odey 9 R ¥

L

gons, Jhrk=
Options :
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Question Number : 50 Question Id : 4509386290 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : NLA Think Time : N.A Minimum Instruction

Time : 0

Itia. bl andic, d) are the mtemal and external centres of simuhmdes of the acles
vl -5 =0and v + 7" — 67 + 8 = 0 respectively, thenta + d) (b +
fa. by enOdin ., ) € 1) AT 1:--|'."1+41 5 =0 udd rl+}':—-51'--ﬂ—l'.'l

- Ay o ﬁn
.:-Efn mehdt Bk -r-T' T 8 (AL Jha latd)(b+ci=

Options :
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Question Number : 51 Question Id : 4509386291 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
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A Circle § passes through the points of mtersection of the crcles +* 4+ =21 # 2y =2=0
and x% +v2 + 2v - 2y 4 1= 0. i the ceatrz of this cirvle § lies on the line x — v 4 6 = 0, then
the radius of the circle S 1s

Pl =4 2y=-2=0 0oy Z4yl+2r-Iy+1=0 S0 p0dd
Dothaye thorr .8 Jy80 5 F80od. & Sydos Bt Sodo r—y +6=08D
GOE), S0 § Gl F5rdo

Options :
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Question Number : 52 Question Id : 4509386292 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The line x — 2y — 3= 0 cuts the parsbola v2 = 4ax ot the pomts P and Q. I the focus of this
1

parabola 1 {_#" k] then P =

e—-2y—3=0 B0 v =4ax AODHOE) B Q Dot ¢ wodod. &

Araecho clng, T G I:) SONS, PY =
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Question Number : 53 Question Id : 4509386293 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : NLA Think Time : N.A Minimum Instruction

Time : 0

If 4x - 3y = 5= 0 is 2 normal to the ellipss 3x° + 9v° = £, then the equation of the tangent
dravn o thus ellipse at the pownt (-2, m) (m = 0315

=k
=

3+ 8y =k OF SyB08 te- 3y -5 =028 edeocaly wond. & L0 SyE08

L]

(-2, ) m>0) Dot 5GBS 805 B Sinsdeo
Options :

3x+4y—14 =4

‘IH.

3xr—4v+10=10
3,

Ix—4y+1=40
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dx+3y—3=0

i
K

Question Number : 54 Question Id : 4509386294 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time : 0

1f the lne Sx — 2y — 6 = 015 & tangent to the lyperbola 512 — kyv® = 12. then the equation of

the normal 1o this hyperbola at the poast (y6,p) (B < 0) is
¥l e . n ke o Mt .
5S¢~ ky? = 12 mddrSonirdl sr-2y-6=0 09 &8 N)0n sond, &
L = e . - al P B il o -
smaTReaizas (VB ) (b < 0) Doty 58 edeoads dddtoo

Options :

VBx + 2y=10

2vex + 3y =3

Vex — 5y = 21

l‘..l.l
L

3v6x —y =21
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Question Number : 55 Question Id : 4509386295 Display Question Number : Yes Is Question
Mandatory ;: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
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[f the angle between the asymptates of the hyperbols 1% — fy? =3 1 ;a]Jﬂ & 16 1S accantneity.

then the pole of the line ¥ + v = 1 = 0 -wth respect o thus hyperbola 15

v —ky? = 3 madrdecho el 208 a)00en HdER0 D80 e o
&R0 wond, & efdmIOnho Gy s +v- 1= 000 TEL 150
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Question Number : 56 Question Id : 4509386296 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
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Let P{a. 4. 7} and (3. B. &) are nwo points. 12 plane divides the join of the paiats P and Q) in
the ratio 2:3 and ZX- plane divdes the jom of P and Q m the ratio 4:5. then length of Ime
segment PO 15

Ple. 4. 7) shdcko Q. p 8o Foth Dodhsien ed%iomo. B0 o O dnd
YZ- 600 23 D18 &', ZX o 4:5 N8 Seb o, PO D 200 SRt

Dptions :

V107
1.+

V27
2 B

V83
3. .

Vo7
i =

Question Number : 57 Question Id : 4509386297 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time : 0

If (o, 8,y ) are the Direction: cosines of an angular besector of two hnes whese Direction ratios
are(2,2,1) and (2, =1,=2), then (u+ f+v)% =
(2,2.1) Sboin (2-1,-2) &5 dayder fo Tod Gped 03 Sty

3505 wochsd 5 B Tk B8 & 0 (n,5,y) o0 o, (w9 =

Options :
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Question Number : 58 Question Id : 4509386298 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : NLA Think Time : N.A Minimum Instruction
Time: 0

1i the distance between the planes 2x + y+z+ 1=0md 2x+ y+2+ =01 3 nats. then

prodhusct of all possible vales of z is

tv+rdl=0a0800 2xdvtz+a=0dere gudirdo 3 Cﬁ::.‘-“:}?LJg. o 50

L g By g e P
PO DO &R)) ctNae) €320

Options :
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Question Number : 59 Question Id : 4509386299 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : NLA Think Time : N.A Minimum Instruction

Time : 0

lim L—cosxcosdx

x =0 sin? x

Options :
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2
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A
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Question Number : 60 Question Id : 4509386300 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time : 0

Jx—2

Tim (31‘1 —-2x 4+ 3) -

.
x=a\ 3xs4+x—2
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Question Number : 651 Question Id : 4509386301 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time : 0

(2 a1 )~ (ax” # 3ok +2)

JI-'._-]-}:[ I‘]. .|I:;":¢ _]-

k ifx=-1

15 a real valued tinetion. [fa, b, k € R and 7 15 contimuons on Rthen k=
(et =gms ] i=lan~ & Pm+l) |

ﬂ_x}=[” - “uifx= -1
k fx==1
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Question Number : 62 Question Id : 4509386302 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

E.re:]"'u—a,:.-g"l-"ll' -
It ,'r{-r} = elflX4q g~ 1 2x iJI‘ x=0
ﬂ Ef s EI

15 a real valued hmenion then

Zx e M BWogy p— 12X

fx) ={ eVeriae e if x # 0 @000
0 if x = 0&0Nha)
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Options :
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=050 fead¥odoho sh
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Question Number : 63 Question Id : 45093863032 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : NLA Think Time : N.A Minimum Instruction
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Question Number : 64 Question Id : 4509386304 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Itx=13 [sin t—log (mtﬂl andy =6 [ms t+ log (tsu: ;J] ﬂlﬁu:—: =

x=73 lsin t — log [mt%}J oDy =6 Icus t+ Eﬂg(tan%}] E-J{l_dﬁg =

Options :

r
" b |
! I
1 Time:0 :
: i
' 2 SITX dv :
1 - 1 =
Ify = Tan ( ) ==
! v o then == -
! I
] o 1 {2 —3sinx dy '
I = Tan ( ) O — = -
! y 3 — 2sinx 0E dh :
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. E
: (3 — 2sinx)* -
1 iy = :
" 13s5in*x — 24sinx 4+ 13 -
| I
i L= I
! I
! i
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Zsin’t

l4sintcost

T. =
Zeosit
1+sin 2t
2 %
2r00s°T
l+sintcost
3
14+cos 2t
14sin 2t
4.

Question Number : 65 Question Id : 4509388305 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : NLA Think Time : N.A Minimum Instruction
Time : 0

By considening 1' = 0.0175. the approximate value of cot 45°2" 1s

1" = 0.0175 (7 200, cot 45°2" QNS BT 000 WED

Options :

1.07
1. "

0.965
4. =

1.035
4, &
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Question Number : 66 Question Id : 4509386306 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

A point i moving on the curve v =3° = 3x*+ 2x— 1 and the yecoordinate of the point is

increasing at the rate of 6 wnits per second. When the point s at (2,—1). the rate of change of

w-coordimate of the pomr 15

p=x = 34 -1 5500 28 Doy S8 a0d SHid & Jothey Tt ¥

NFDS0 WdaS 6 abrRd) Japd Dl & dochay (2-1) &0

ey, Doche Bhns) = Ndrniod drt) Dto

Options :
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Question Number : 67 Question Id : 4509386307 Display Question Number : Yes Is Question
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Mandatory : No Calculator : None Response Time : NLA Think Time : N.A Minimum Instruction
Time : 0

The length of the tangent drawn af the pomt p G} on the curve 22 4y?/ =232

34y =01 55070 p (7) Dochiy 36 ARs )68 Sty

Options :
2
1. = 3
|
2.
4
3
3. =
4 = g

Question Number : 68 Question Id : 4509326308 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : NLA Think Time : N.A Minimum Instruction
Time: 0

The se1 of all real values of *a’ such that the real valued function

flx)=x'+ 2ax®+ (a4 1)z + 5 15 sirictly increasing in its entire domain i3

flx) =13+ 2ax+ 3(at 1)n + 5 &7 arelal direy; ahabo o Mo (aTdos H€

-l

BT | 00T o ol 1 Ghot) @) T Sensn el
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Question Number : 69 Question Id : 4509386309 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
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*.
(x*+1)7s

- b
4x-

Question Number : 70 Question Id : 4509326310 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
x+1
Vil4a4l

ax =

Options :

[ =

1~l.z+\x 14 %L‘I_'I-S]I. 1 l:r%‘) + 0

L

1 2 i 2x+1
—yx?+x+1+ —Tan’ [ — )+::
- v 3 V3
2. -
e 2
vrxi+x+1l+ —log|x* + x + 1|+ c
v 3
H -
e— 1 D
vX°+x+1 + —sinh ( —= )+t
4. v

Question Number : 71 Question Id : 4509386311 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
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(tan’ x + tan x)dx =

Options :
tan®x . o _
T (Ztan®x — 3tan“x+6)+ ¢
1. % B
1'..:'1.11'z X |:':I]l!:I X 1.3]:]'4.1
= + 12
] 4 £
_:_-_ m
tan“x 5
(tan® x 4+ 3tan° x 44)+- ¢
3. 4
tan X
—— (tan*x — 3tan®x + 6)+ ¢
12
4. H

Question Number : 72 Question Id : 4509386312 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : NLA Think Time : N.A Minimum Instruction

Time : 0

cOSel X
: —

! 3cos x+4sin x

Options :

1 COS8 X
dsin x 4+ 4cos x
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i1 SN X
— D
3 E 3cos ¥ +4sin x
2.
1 3cos x+sin x 1,
—lo i
3 - 3cos x + 45in x
3.8
1 I cos 14+ 4sin x
—log y
2 |3c0s x + 4sin x
q =

Question Number : 73 Question Id : 4509386313 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : NLA Think Time : N.A Minimum Instruction

Time : 0
e“*Heinbrdx =
Options :
ez"‘”
[ 25in Gx + Gecos Gy )+ ¢
40 ol
'|I E
l|__.,Er+5 .
D (2cos 6x 4+ 6sin 6x )+ ¢
3 R
Elr+3
20 (sin 6x — 3cos 6x)+ ¢
J. v

P . . - . . . .
i“-“m_—-—-- (A B L 1 o &8 R L L R & A 3 L B I N A R L J A &8 & R 2 3% R 1. R L _B QL_Q& A R L L A& 4 R & L L B 4L 4 2 _F_ A& 4 A & R L _ &R _J2_ R Q4 % L & R _R_J2 L .} “-q_-‘

Bl B F B g g g e = Y



IF_,EA“I-.‘r

20

(cos6x — 3sin 61+ ¢

Question Number : 74 Question Id : 4509386314 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : NLA Think Time : N.A Minimum Instruction

Time : 0
: 1 1 1 ! A
lim at l— 4 g -~ Fhus— ==
N o— o n? TG o 2 > 2 19y 4 2n>
(n*+1)2 (nc+4)= (n°+9):
Options :
3
442
'|I s
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6V2
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BV2Z
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Question Number : 75 Question Id : 4509386315 Display Question Number : Yes Is Question
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Mandatory : No Calculator : None Response Time : NLA Think Time : N.A Minimum Instruction
Time : 0

ax =

]- J-r.'llqE E.,E.t + E.‘r
2 X -
fiogs € S5e* 4+ 6

Options :

oo (%)

log (?)

o0 (37)

-

Question Number : 76 Question Id : 4509386316 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time : 0

Ft"'—l )
axr =
Jq "-E'_I

Options :
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121
2. = 6
V2 -1
3.
| 2
—Tan™t {—,_)
VZ V3
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Question Number : 77 Question Id : 4509386317 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

The area of the region (1n s, unts) enclosed by the curve y = x* = 19x + 30 and the X-axis 15

M50 y=1"=19x 430 08cly Xwio of ssfodndy Foé JTelo

o gl
(05 e

Options :
167
e
1. =
517
=
2. ¥
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Question Number : 78 Question Id : 4509386318 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : NLA Think Time : N.A Minimum Instruction
Time : 0

The differential equation representing the famly of cucles havmg thewr centres oo Yeaxs 15

- l:"l.'
=— :m-:h = —']
t ' AT

Y50 ¢ Somod $OR SiBsne SHtnowrny drded essuach

o B e [ BY <. ;% 'y
A 85630 | == B Y ¥y = —]
i ix ars

Options :

= v(y,2 + 1)

‘I u
y;=xp(ni+ 1)

i
i 2 '
ava = wlvy” +1)

3.
xyp =y + 1)

4. "
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Question Number : 79 Question Id : 4509386319 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : NLA Think Time : N.A Minimum Instruction

Time : 0

The general solurson of the differential equation (sin v cos® y = xsee” v) dy = (cany) dx is

! 1 0 T ST SRS WY o1 TN ST DR W 1
(sinyeos’y = xeee’ vl dv = (tany) dy 8% w800 b8dmo dug rodo

LA
Options :
tan v = 3x c‘ns3_1.' 5 gl
1. =
tisecy +tany) = cos? y4c
2 X
yEmy = e EﬂS:_i' T
3.
3x tan v 4 {'DSJ y=7I
4,

Question Number : B0 Question Id : 4509386320 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : NLA Think Time : N.A Minimum Instruction

Time : 0
The general solution of the differential equation (x =y = 1)dy={x+y+ 1) dxis

| [ o5 5 5 ! "'l. s e 3 £
(x=y=1dy=(x+ v+ 1) dx @56 AL85600 CB0SY PO AP

Options :
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(x—¥)+log{x+¥y)=c

A

y:i—x*+xy—-3y—x=c¢
3.

(x —y— 1% (x + v+ 1)? =
.1. 4
Section Id :

Section Number :
Mandatory or Optional :
Number of Questions :

Section Marks :

-

Physics
450938136
2
Mandatory
40

40

Enable Mark as Answered Mark for Review and

Clear Response :
Maximum Instruction Time :

Is Section Default? :

Yies

rull

Question Number : 81 Question Id : 4509386321 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time : 0

TR T F R T EYTR YRR Y OET ORCOYCORCR R WO

B —— - -l



Mateh the following

a) | Thermal conductivity | 1) | MLT 3K ™!
b) | Boltzman constant ) | MPLAT 2K
¢} | Latent heat i) | MLAT iK1
d) | Specific hear iv) | MPLPT®

Bof IR 2SS0

a) | Sralararsed i) | MLT 3K
b) | 'O, Too orodo | u) | MALAT2R
¢} | th& 0 i) | MI2T 2R L
d) | D30 iv) | MOL*T*
Options :
a—1, b—iii, c—Iv, d—ii
1. v

a—i, b-ii, c—iv, d — iii

2 B

a—iil, b—ii, c—i, d—iv
- e

a—ii, b-—i c — iii, d—iv
4, %

Question Number : 82 Question Id : 4509386322 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time : 0
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Au object 15 projected such that it has 1o attain maximnm rauge. another body 1s projected fo reach
manimun height. [f both the objects 1eached the same maximam height, then the ratio matial
velocines

2.8 hedyeded Moy a7go) OTAD, S Sa0:eh M8y Jéy TohtD HN0E, &
Dotk D6 i Jden Hairdo, @and & Toth Srge €0 Tme du e

Options :

21

LW

+3]

2.4

1:v/2

1:2

Question Number : 83 Question Id : 4509386323 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : NLA Think Time : N.A Minimum Instruction
Time: 0

Aball is projected at an angle of 45° with the horizontal. It passes through a wall of height 'h' at 2
horizoutal distance d, from the pomt of projechion and strkes the ground at a distance d; + d.
from the pownt of projection. then 1’ 15

18 woan §82 dareddandd 45 Saudd 280 T, & 208 588
Dodns oo d, 382 Hirodd Ardsns T J8 o b o (H88 Dotiay

200 d, 1, Grdnd 2rd @810, sands ¥ deod

Options :
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 2Zdyd,
S dy 44,
‘I‘I
d;d;
"‘dﬁrdE
2. o
-.r‘_d d,
dl + d,
3 .
d,d
0. LA
2(d, +d,)
4, B

Question Number : 84 Question Id : 4509386324 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : NLA Think Time : N.A Minimum Instruction
Time : 0

Onz second after projection, a projectilz 16 travelling 1 3 direction inclad at 45° 10 horzontal

Atter two more seconds if 15 travelling horizoatally. Then the magninede of velocity of e projectile

5(g=10ms")

45198 %, (8 o T o DEd Pl o ed §85 Adrodtins

45° 20 T phcireied &, of |3 fS_ S50 8 Doch Rhe Tudn AT é

B dairodSor |moirdyd). & DI Gl N S0arESy Dend

(g = 10ms™?)

Options :
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Question Number : 85 Question Id : 4509386325 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : NLA Think Time : N.A Minimum Instruction
Time: 0

Thiree blocks of masses 2 m, 4 m and 6 m are placed as shown m higure.
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Question Number : 86 Question Id : 4509386326 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Two masses my and m; are connected by a Light string passing over smooth pulley. When et free

my moves downwards by 3m m 35 The ratw of % is{g=10ms™)
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Question Number : 87 Question Id : 4509386327 Display Question Number ; Yes Is Question
Mandatory : No Calculator : None Response Time : NLA Think Time : N.A Minimum Instruction
Time : 0

In an melashe collision. after collion the kmeiie energy
. ~ . 2 o R, o w BE
24 Busnrad of)ares. 200k fazds Do, edsrddn 20Rd ST
Options :

mcreases by 2 fumes

1. % .
15 less than before colhsion
)b i 2¢hiE S0tk 80t éfor S Gotd
2.
is more than before collision
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Question Number : B8 Question Id : 4509386328 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
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A spring of 5 % 10°Nm™ spring constant 15 stretched witially by 10 e from unstretched
position. The work required to stretch it further by another 10 cn s
5x 10Nm? [0)0f Rrodiy Devd SORS 28 (Moh Jwde 10 am

AP ORRASE. & (2300 i oDOGNE 10 con MO CROAT) TaDERS e N
Options :

78 N-m
1.+

50 N-m
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3. 8

82 N-m
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Question Number : B9 Question Id : 4509386329 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time : 0

The moments of mertia of a solid cvhinder and a hollow cvlinder of sane mass and sune radios

about the axes of the cylmders are ) and L, The relation between 1 and 1, 1

28 | (3550rd Bl 23 argrrdo SOR 2.8 and APho Aibdin 2.8 Sen o &
2066 T EFuTen oo 830 0o e <ndaln 1. o] bl I
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Question Number : 90 Question Id : 4509386330 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

A wheel of angular speed 600 revimin ts made to slow down at 3 rate of 2 rad 572, The nuanber of

revolunons made by the wheel befors conung to rest i

- o wl Foou n Y - i . 5] Wy o % .
SAah S 600 revimin (16 2.8 ALY 3825 0end dlodndan, HERLAEL
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Question Number : 91 Question Id : 4509386331 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : NLA Think Time : N.A Minimum Instruction

Time : 0
Time period of 2 simple pendulim in A s T. If the pendubun 15 1 water and executes SHM, 1t

.
tune penod 15 1, The vahe N; 15
S0 =
[density of bob is == kg m G|
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Question Number : 92 Question Id : 4509386332 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : NLA Think Time : N.A Minimum Instruction
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Time: 0

For & particle exsenting simple hamonsc motion. match the following statements {conditions) from

cohumn I to statements (shapes of graph i colnmn 1T

Question Number : 93 Question Id : 4509386333 Display Question Number : Yes Is Question
Mandatory .

bl

I

i

]

i

I

I

i

i

I

column T | cobmmn [T :

— . e i

2 | Velocry-displacement graph (w=1) {1 | Straaglt Ie 1
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b | Acceleraion-displacement graph i | Stmsoidal ;
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¢ | Acceleranon - time graph w | Circle :
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d | Avceleration - velocity (w # 1) w | Elipse :
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Time: 0

Two satellites of masses m and 1.5 m are revolving around the earth with different speeds w two
curcular orbits of heizhts R and 2R respectively, where Rgis the radms of the sarth. The ratio of
the muninnun and maxonum gravtational forces on the earth dus to the o sarellires =

m 00 15m [Sajorban i ool taliefen drab 6T Ry aobcio 2R,
Jdien e S, FTE 508 DY) Sdhed SEZMol S0, 35 R 4T
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[

Options :

2:5
1. ¥

2:3
J. -

1:2
= M

1:5
4. v

Question Number : 94 Question Id : 4509386334 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Respanse Time : N.A Think Time : N.A Minimum Instruction
Time:0
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Two copper wires A and B of lengths in the rano 1+ 2 and diameters in the ratio 3 ¢ 2 are stretched
by fovces i the ratio 3 ¢ 1 The ratio of the elastic potential enermes stored per unt volume w the
wires A and B 1

e A8 1:2 500k Fire B8 3 125000 A D00k B & Do o
Sriod 3+1 04186 o werod 1 BP0, 2508 HII0IPTIS A L0 B
eiod Do) ot DBTE Dz o 29,8
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Question Number : 95 Question Id : 4509386335 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

216 smuallidentical liquid drops each of surface area A coalesce to forut a bigger diop. If the surface
tensson of the liquad as T, the energy released m the process is
L6154 4 daben FTego fie 216 ) 28085008 (Ba) Dochugen $Hhdan
28 20 Dodhr 6T, 108 Sexddes T mond, 5chd e mond
13
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Question Number : 96 Question Id : 4509386336 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : NLA Think Time : N.A Minimum Instruction

Time : 0

The length of 2 metal bar i 20 cm and the area of cross sechon 15 4 X 10" m?, If one end of the
rod 15 kept o 1ce ¢ 0°C and the other end 13 kept i steam at 100°C, the mass of ice melted in one
itz i3 § g, The thermal condvetnviny of the metal in Wm K" 55

(Latent heat of fusion = 50 cal gim)
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Question Number : 97 Question Id : 4509386337 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time : 0

The work done by an ideal gas of 2 moles m mereasing its volume from V1o 2V af constant
temperature T 15 W, The work done by an deal gas of 4 moles m mereasmg its voliume from V 1o
¥ T b
8V ar constan! fempemtue Sl
Y l.-\. 5 T - 1 II'I . -I'| ol |_. 5 "
2.5 0 S T 58 2 Trd o2 s Tokneg i DOrRind Vo 2v
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Question Number : 98 Question Id : 4509386338 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : NLA Think Time : N.A Minimum Instruction

Time : 0
When 40 | of heat s absorbed by a movatomic gas. the increase m the interal everzy of the g2 18
2.4 8 S8Srend ralng 40] BArNy Faodd, Falng aostd 45 &2 2dh
ey
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Question Number : 99 Question Id : 4509386339 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : NLA Think Time : N.A Minimum Instruction
Time : 0

In a Camot engne, the absohie temperamre of the source 15 25% more than the zbsolue
temnperature of the smk. The efficiency of the engine 15

28 o) dhood, sarddio S5 &S, Merdcho S Gt oy
25% &550. & abo|do Glus) G5
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Question Number : 100 Question Id : 4509386340 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : NLA Think Time : N.A Minimum Instruction
Time : 0

The molar specific heat capacity of a diatomac gas at constant pressure 1s C. The molar specific beat

capaciy ofa MONoAToNLe 2as af constant '|'ﬂ|.|.|.ll'|E [ H]

=
o addo 50 28 Bradarad ading Soerd DI Ao £ v

sroaBaiPEa0 o3 2.8 UBndarens ol Glosy Suerd APala ardndeo

Options :
2C
.- 2
3C
e 7
C
7
5.
-~
4. %

P . . - . . . .
i“-m-ﬂ--- (A B L 1 o &8 R L L R & A 3 L B I N A R L J A &8 & R 2 3% R 1. R L _B QL_Q& A R L L A& 4 R & L L B 4L 4 2 _F_ A& 4 A & R L _ &R _J2_ R Q4 % L & R _R_J2 L .} ---‘

e e



Question Number : 101 Question Id : 4509386341 Display Question Number : Yes Is Question
Mandatory ;: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time : 0

Two stretehed sinngs A and B when vibrated togefher produce 4 beats per second. I the tension
applied to the string A ncreased, the munber of bears produced per second 15 mereased to 7, If the
frequency of strng B 15 480 Hz maially. the requency of siing A 15

Doch arrociadds s o ook B L8P0 fodos Tad, aé ndhd 4
DiodTre G Dmon. of A § ehiBoduds dddd Do, 8

TE 8 e ) i R J0cieren T 80 BMD. B B e a3ed;0 480 Hz o,
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Question Number : 102 Question 1d : 4509386342 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : NLA Think Time : N.A Minimum Instruction
Time: 0
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The focal length of a thi converging lens m awrss 20 o When the lens  inunersed m a hgud, u
belaves like a concave Jens of power I D. 1f the refractive wdex of the matenal of the lens 15 1.5,
the refractve imdex of the bgud 15
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Question Number : 103 Question Id : 4509386343 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time ;0
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In vowng's double it expermment with monochromatic bghs of wave length 6000 A. the frnge

widih 15 3 m. If the distance between the screen and shs 18 mereased by 30 % and the distance

between the slits i decreased b 10 %, then the fnnge width 15

6000 A S50 SRS 0F Ssosd xhiabd dbof 2ot A% hairrod,
24 Fdden) 3 om, B Sboy DAL Dd: Aoy 50 % Dod. DL Hs

SRy 10% SRR, 5 S
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Question Number: 104 Question Id : 4509386344 Display Question Number : Yes [s Question
Mandatory : No Calculator : None Response Time : NLA Think Time : N.A Minimum Instruction
Time : 0

Tiwo point charges +6 pC and +10 pC kept at certan distance repel each other with a force of 30 N,
If each charge 15 gven an addinonal charge of —8 pC the o charges
e Ardeind 3 Sobadd todh Dodd udTen +6puC By 10 4C 2.8
e F5E 30N 2ood DEGoeh S (28 eril addom -8 uC &)
oo, @ Bodh eTen
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Artract with a force of 2N

2N 2008 a0

v
repel with a force of 2N

2N 22308 DECotHE e

i =
Attract with a force of 15 N

15 N 2008 @f00tuT8D

3. 4
repel with a force of 15 N

.« 15N 2008 JEQoth TN

Question Number : 105 Question 1d : 4509386345 Display Question Number ; Yes Is Question
Mandatory : No Calculator : None Response Time : NLA Think Time : N.A Minimum Instruction

Time : 0

In the given circuit. the potennal ditference across 5 pF capacitor is

203238 SO0, 5 pF Sarheyd Sode HiG SBYGHE 2o

]
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Question Number : 106 Question 1d : 4509386346 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

I a region. the electric fizld s [Eﬂi + -HJEI NCL I the electric potential at the origis is zéro, the
elecinic potential at the point (1 m, 2 m) 13
28 (W08, Dbl 3 o (300+405) NCL sire Doche SO Ddd dTRcbE

RO €006, (1m,2 m) Dodie) 56 DS ShHaoko
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Question Number : 107 Question 1d : 4509386347 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : NLA Think Time : N.A Minimum Instruction

Time: 0

Tn & potentiomerer. the area of cross section of the wire & 4 em®, the conent Bowing in the cenit

i5 1 A and the potential gradient 15 7.5 V™", then the resistivity of the poteatiometer wire &5

28 o0l Mbd e edss Freo s, Sodho hom Datrod Ddid

R M S Pty A et ] -1 wil e S x-,a's‘lﬁ-.j}"ﬁ

!:..Ina.' mrit 1A « 00000 & q..;r__-"ﬂ_A.L:IFJ |_*_:-.'|:-\ch|_ TEVm " &E00sS &8 i _.=I':.-":LL. LAl Rk ]|
i 5

NOCSe

Options :

3% 1072 Nim
1. %

2% 10°% 0m

4% 107 Om

5% 107 Nim

Question Number : 108 Question Id : 4509386348 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time : 0
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Drift speed (1) varies with the intensity of electric field (E) as per the relation

553 56 (), e TS B3 (E) & DN Goch Soaodso
Options :

rakE
1.+

LBl

e |

vaE™?

Question Number : 109 Question Id : 4509386349 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

A current cairying eorl expenznces a tosque due to 3 magnetic fizld. The value of the torque 5

B0 % of the maxmum possible torque, The angle between the magnetic field and the normal to the

plang of the codl 13

DS aTarindy 2.8 ot @006 380 Sod er8; & Sdddod, &
er0y arcidvd 103 erBy Dendd 80 % Dendd dot mokhir 06 38 b

7 derp 00rDE Sk Smo

Options :

30°

el
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Question Number : 110 Question Id : 4509386350 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time : 0

An electron i moving with a velocity (21 + 37) ms™ in s electric field (31 + 6] + 2k) Vo~ and
2 magnetic field of [E} + HI} T. Then the maguitade and direction (with xeaxis) of the Lorentz

foree acting on the electron 13

i

Wb Jogd @+3)me?! Fod S Tido (3(+6+2k)ve ! Dok
(Z+3K) T fiey sscliimo8 3180 Hom Sdotihdyd, sand o Jeo T

e G008 1o HBarR0 ok A9 el Snd)

Options :

2
96 x 1079 N, ﬂ;r:us'l(—..)
V5

5
96 x 1079 N, A = cos™? (—)
W2
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3. v V5
5
215 % 10718 N, 8 = cos™? [—)
3 V2
A

Question Number : 111 Question 1d : 4509386351 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Respanse Time : NLA Think Time @ N.A Minimum Instruction
Time: 0

A magnet suspended in a nniform magnetic feld is heated so as o reduce 11s magnetic moment by

19%. By donag this, the time penod of the magoet approxmmately

2.8 D608 maihary 08 Tisod | Herdhid 2.8 wdbarmomd), R eabar o

7%0 19% &7 Do 36 Trch. mer Tolbdo e, 8 sabar)odo olus;

Gomidsd 7oo dhdrdn
Options :

Increases by 11%

11% =xibenod
1. 9

Decreases by 19%

19% e5(He0S
2. -

Increases by 19%

19% a0y

3. H
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Decreases by 4%

4% Do

Question Number : 112 Question 1d : 4509386352 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : NLA Think Time : N.A Minimum Instruction
Time: 0

If the corrent through an inductor mereases from 2 A to 3 A, the magnetic energy stored i the
wductor mereases by

” i “ R T e e = E 4 - | ..
B3 050 T |maar Oriiie ) ehid 2 A c0dh 3 A B 28R, d0d Ao

50l wolarios 456 Diiboe

Options :

125%
1.+

225%
L.

50%
3_ wk

15%
4 =

Question Number : 113 Question 1d : 4509386353 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : NLA Think Time : N.A Minimum Instruction

Time: 0
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[n the fignre, f A & B are identical bulbs, which bulb glows brghter
B0 S0, A &boky B ASarghe pone. 78S 30 Hedsossr

entehod?

100 mH
(A
R '1;)

Options :

1.9

Both with equal bnghtness
OO 2.8 G0 |25 3" 0w

Both do not glow

TOET Jeied

Question Number : 114 Question 1d : 4509386354 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : NLA Think Time : N.A Minimum Instruction

P . . - . . . .
i“-m-ﬂ--- (A B L 1 o &8 R L L R & A 3 L B I N A R L J A &8 & R 2 3% R 1. R L _B QL_Q& A R L L A& 4 R & L L B 4L 4 2 _F_ A& 4 A & R L _ &R _J2_ R Q4 % L & R _R_J2 L .} ---‘

e e



Time: 0

The Solar Radiation is

2rd aideren @50
Options :

Stationary wave

8 edfomen
1 =S
Mechanical wave
airo|eds eédonren
2_ .
Transverse EM wave
- e385:E Db auarios édomren
Longitudinal EM wave
2 B0 Dehaharros eédomen
4.

Question Number : 115 Question 1d : 4509386355 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : NLA Think Time : N.A Minimum Instruction
Time: 0

Energy required to remove aa electron from almmmnm surface 15 4.2 eV, If hight of wavelength

2000 A falls on the surface. the velociry of the fastest electron ejected from the surface will be
BOFRcho 800 Hod 28 JoFe A Solicdmdl mhodd 48 426V
SSofEo 20004 o To8 & Socd 80500, 8 Soo dob Fodd
we S 118 o

Options :
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8.4 % 10° ms™ !

7.4 % 10° ms™?

2 =

6.4 % 10° ms™!
3_ F

8.4 % 10"ms™
4 %

Question Number : 116 Question 1d : 4509386356 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : NLA Think Time : N.A Minimum Instruction

Time:0

If the bonding enerzy of the electron in a hydrogen atom 16 13.6 €V, then energy required 10 remove

electron from first excited state of Li**

. [ g 5 5 — i -
ME2SHEAPENS D00 T8 208 95 136 eV sond 12t el 4Bed

s <l

[l

; -4 o r 1 P -
we B0l DTS o SORoSENE Paeific 43

Options :
122.4 eV
1. =
3.4V
3 %
13.6eV
3. ¥
dI
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Question Number : 117 Question 1d ; 4509386357 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : NLA Think Time : N.A Minimum Instruction
Time : 0

A micture consists of two mdicactree matenals A; and Ay with half lves of 203 and 105
respectively. [nstially the mowture bas 40 g of A; and 160 g of A, . The anomt of the two i the
mizgz will become squal afier

el D6 eren 205 Dbl 10smike 4, HBAN A, &7 BAGr 88 dreomen
a0 S0k, & Mg Send 40go 4, SO0k 160g e 4, SroTe fo

=

” & . e o) . ¥ "
& a0 67 Doch Arese (ddimben Sdrdahd il b veo

Options :

Gl =

1. &

80 s

20s

40 s

Question Number : 118 Question Id : 4509386358 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time : 0
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If n, and ny are concentrations of electrons and holes m a semn-conductor. then the mtnnsic camer
concentration (0| 1 thenmal squbtboum 15

28 wlrriod doiFe SHids O0|orey PESED T 0, 00N m B0

g, ™

ﬁ*& c»l:-.uﬂ"qltilfﬁ* P TA N Ik Py 5 ITChe ()

Options :
n
n:l == 1'P.fﬂl.'.l.h
1. &
Iy
n = —
(LT
2. Y
n = ,‘u’ﬂ,ﬂh
3. o

Nj = N + Ny

Question Number : 119 Question Id : 4509386359 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : NLA Think Time : N.A Minimum Instruction
Time : 0
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In the given digiral crcuit of the mputs are & = 1B = 1 and € = 1 thea the values of y, and y, are
reipectively
30 B ahd Sodbind AFTaA = 1,B=150ck ¢ =1 ®mdy,

2 LD v, aEIaIEN adthm

Options :

Question Number : 120 Question Id : 4509386360 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : NLA Think Time : N.A Minimum Instruction
Time : 0

i1 the maxmmum and memmum voltages of an A M wave are Vi, 20d Vipy, respectively. Then the

modulation factor ‘m’ 15

28§05 2008 drcifad (M) ddofo Gus 802 Lo 0 ST

DN ST Vo cBin Vo, evcind® SrthBam et ‘m'
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Options :

[.vmax + vmin:'
/(vma::- 1i'rmlnjII

{-FII:'IQH vll!ilt-}/rl-_v LV }

!"'-_l
%

2V V..
max m.lnf{__umu . ‘u"m-lu_]

{.vma:{+1"rmm }/[T.F v }
max " min

section Id ;

Section Mumber :
Mandatory or Optional :
Number of Questions :

Section Marks :

Chemistry

450938137
3
Mandatory
40

40

Enable Mark as Answered Mark for Review and

Clear Response :
Maximum Instruction Time :

Is Section Default? :

Yo

rull

Question Number : 121 Question Id : 4509386361 Display Question Number : Yes Is Question

R R
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Mandatory : No Calculator : None Response Time : NLA Think Time : N.A Minimum Instruction
Time : 0

The de Broghie wavelength of a particle of mass | me moving with a veloeary of
[hms™ is (=663 % 10775}
Wms™ 08 588 1 me (553 e 520 5ﬂ{.‘f} SOONTI0I0 (h=683 1 107 ]5)

Options :

6.63 x 107 % m

1.+

663 x 107 m
2_ .

663 %103 m
g,

663 % 1072 m
d_ N

Question Number : 122 Question 1d : 4509386362 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct set of four quantum munbers for the valence electron of strontium (Z = 38) s

A (Z=39) B JOFs ek £1000 Homze SO e
Options :

5.0.0, +§

—
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1
4 Lx
: L.Ii=|.+2

E_.Ii
5. 1.1, 4=

3_:
1
6.0 0 '1-;

4, &

Question Number : 123 Question 1d : 4509386363 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time : 0

iatch the following

Lasr ] List Tl
Element | Electron gan suthalpy (n kJ mol™)
Al F I -141
B ! 1l |1 -328
] 0 | ~200)
Dl § |IV -349

The correct answer 18

1508 D askdthien

ATy e 1
P50 DL (it orre)) Kk mol™ 65
A F i ~141
B Cl i —32§
C 0 m - 200
D 5 v -39
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A-IT. B-IV. C-1. D-H1

1.+

A-IV. B-11. C-L. D-II1
2. %

A-TIL B-11. C-IV. D-1
=

A-IL B-IIL. C-IV, D-1
4 =B

Question Number: 124 Question 1d : 4509386364 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : NLA Think Time : N.A Minimum Instruction
Time: 0

The bond lengths of diatomsc melecnles of elements X, Y and £ respectively are 143, 110 and 131
pm. The atomsc munbers of X, ¥ and Z respectrvely are:
XY 000 2 areore H500rs @D 200 TT 0 S 143, 10

a0l 121 pm. X, Y a00050 Z € ) 0P 080 AlinT

Dptions :

9 7.8

—

.

7.8,9

9.8.7
3, =
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Question Number : 125 Question Id : 4509386365 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : NLA Think Time : N.A Minimum Instruction
Time : 0

The comect formala used to determine the formal charge (Q4) on an atom in the given Lawie
structure of 4 molecule or 1on 15

(V = number of vakence electrons m free atom, U = uumber of unshared electrons on the atom,

B = namber of bonds asound the atowm)

1.8 s B molrdol adad erarr Ao, HoSreg 60 odd o
Aenoirdd 4HErRow AP rhjer
(V="05) DES Hoadrmd ) Jod) JoiFH doms, U= H6dren) o

i) SN JeY T A0mE. B = ST T &) doe dowy)

Options :

Q;=V+(U-B)

-
N

Q=V-(U+B)
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Question Number : 126 Question Id : 4509386366 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

RMS velocity of one miole of an ideal gas was measured at different temperatures, A araph of ()’
{om y=axss) and T(K) (on x-axis) gave srmight lme passig through the ongm and its slope 15 249
s K What is the molar mass (m kg mol™) of ideal gas” (R=83 Jmal 'K

2.4 Srd aiththy ooy RMS Fmhy D0 &l iée S0 8ITd. uny’ (el 0D)
0080 TEK) (i op) © Sy md Adbmr Arodiod.) hom 39 40
@y 1'?"-".F- -—l':r'll TR L I T | :'-I "[ a 'E'I;I_‘El" e ".-_::-:F-TEIEI r'jr\-l : -;. a __Q:!- ']r-til'_l
2000, el a2 249 s K7, &3 000 ) T 000 ) ATEF0 2700 (kg mol™ €38 ) 2106

(R=5.3 T mol 'K

Options :
10
'| s
1.0
2. R
24.9
3. =
1 x 1071
4. w

Question Number : 127 Question Id : 4509386367 Display Question Number : Yes Is Question
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Mandatory : No Calculator : None Response Time : NLA Think Time : N.A Minimum Instruction
Time: 0

Given below are two statements

Statement I Viscosity of hipnid decreases with increase m temperatre
& & - - -"I

Statement 1T The units of viscosity are kg m™s™

The correct answer 1s

(Sod Dodhy arganien e i@ o

Tt T chased Mate, il et ORSTO éfbehod,
e IL 2 068 (Daireren kg m's”

HOGDHS HIPTESSN

Options :

Both statement- I and statement- II are correct
oy 220 8- 1 0 TP ims- I Do HEGh.)

1. &
Both statement- [ and statement- 11 are not ¢olrsct
a8 8- T o0 Bak i :-I Doy GGG 55y

5 %

Statement- I 1s correct but statement- 1T 1s not correct
i s-1 0QHAE T a7 - I A 5t

3. v
Statement- [ 1s not comrect but statement- I1 15 correct
AL T eI TARAVE S I AT e TalaNA TS A

4.

P . . - . . . .
‘- LR & b L _ A & & QL 2 3. 8 L A L R L 4 4 R L % 4 2 4§ L % & & AL R 1 R R __& 4 R % QL R 2 B8 @ % RL_& R_QL J1 R _R_ & A 8 2 L 2 R 3 L L 41 4 R BN 2 L Jj --------‘

K R 3 R K K I 2 2 3§ _E_ 2 & I _F_2 2§ 2 =% R _» 2 =~ 4 R & X E Lt 4 I R B _J2 L 2 E X N _E__L 3 31 8 L o 32§ F_R_§ L L L § J



P . . - . . . .

Question Number : 128 Question 1d : 4509386368 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : NLA Think Time : N.A Minimum Instruction

Time : 0

A hvdrocarbon contining C and H has 92.3% C. When 39 g of hydrocarbon was completely bumt
in O, x moles of water and v moles of CO; were fonmed © moles of water is sufficient to liberate
0.75 moles of Hy witl Na metal What is the weight (m 2) of oxyzen consnmed”
(C=12wH=]y)

€ Bcin Hen &y 2.4 sy S 0% et 9o b5t Hod
Sl S08005:5¢ 1 378 £ A5 Lidck y ArH © 00 638301 Trd o
A, Xa S rod B85S0 075 rd o B Ddbdo Tolntis s,

DGIrEh; 881aS |08 Eod) Jo8 1(C=12x H=1u)
Options :

120
1.+

240

Question Number : 129 Question Id : 4509386369 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : NLA Think Time : N.A Minimum Instruction
Time: 0
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i At e e il ok e S o g i e gt e e b ey R e o oo e et S o b s e a2 it Bt b gt Pk mt g s e bl
] I
i _ i
: At 300 K. for the reaction A — P, the ASgz 15 5 JK mol®. What 15 the heat shsorbed :
i I
: (in kT mol ™) by the system? -
l o =l - L b L R .
1 300K 20, A — P OO ASes 20t § T mol L. s3gedn) (f1SF0 0 S0 !
] ; I
L (I mol! 05) Doe? !
I I
] ' I
1 Options: 1
I I
i I
1.5
R |
i I
I I
i I
[ i
I 15 I
| 2. % I
] I
i i
1 I
] I
1 |
1 1 500 !
i 3 I
] I
[ I
1 I
] I
I 0.6 I
| 4. % I
1 I
1 I
I I
] i
1 I
] I
I i
} Question Number : 130 Question 1d : 4509386370 Display Question Number : Yes Is Question :
| Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction |
1 I
1 Time:0 I
i |
! Idennfy the incorrect statements from the following !
: L ASymen = (ASiu + ASq) :
] I
- IL A(l) — Als): for tlus process entropy change decreazes '
1 . . i
! II.  Entrapy units are J K mol? :
i 280D 570 (incomreet) T gEpseed Mothod :
] I
i I ASssien=(ASwul + ASun) E
- . A(l) — Als): S 1380050 Q0| 06 Arth ) Sheod )
i I
: ML JOSS |Beireren JK mol ! :
i I
1 [
1 B I
y Options: 3
I‘F’ S . —— ——————— ————— —————— —— ——— ——————— ——————— — — — -“--l'l-ﬂ\!



[. IT1 only
I I o577 8350
1. v
I, TT only
I I 20 (ehah
R
LI I
3. "
11, TIT only
IL. III S50 e8 550
q. F

Question Number : 131 Question Id : 4509386371 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time : 0

ArT (K. Ko for the reaction, 4, (g) = B, () is 99.0. Two moles of A2 (g) was heared 1o T (K) in
a LL closed flask to reach the above equilibrium. Whar are the concentrations (in mol L) of A2 (g}
and Ba(g) respectively ot equaliboum?

T (K} 50 4 (g = By(g) 1352 & K. Dewdd 990 Doth Ird © 4 & 1L @S

o = =, . ol o y i
shel508) T (K} 205 JA0N 3 devErgen fromrlh, adeys S0 4 000 B

—_

& e (mol 1! ') SR o
Options :

1.86, 0.0187

1. ®
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1.98. 0.02
2. =

0.0187, 1.86
-

0.0Z, 1.98
4.+

Question Number : 132 Question 1d : 4509386372 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time : 0

At 27, the degres of dissociation of weak acid (HA) in tts 0.5M aqueous sobstion s 1%, Fs K,

valie 15 approsamately

it
ol

B L - =5 b Wy s L A L 5 % =
27 50, 0.5M 26 5006 B0 edio (HA) o) Db w58 1% K,

aI®06) sl PO

Options :

5% 107"
‘I F

5« 1073
2.

s % 107"
3_ H

5« 1078
4. ®

P . . - . . . .
i“-“m-—-—-_- (A B L 1 o &8 R L L R & A 3 L B I N A R L J A &8 & R 2 3% R 1. R L _B QL_Q& A R L L A& 4 R & L L B 4L 4 2 _F_ A& 4 A & R L _ &R _J2_ R Q4 % L & R _R_J2 L .} “"q_-‘
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Question Number : 133 Question Id : 4509386373 Display Question Number : Yes Is Question
Mandatory ;: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Alumimum carbide on reaction with D0 givas AKOD)s sud X7 What 13 X7
soFmatho STIAD0 & O] 06 AIODk L8N X O At X 8]
Options :

C2De

C3Dy

CaDy

CDy

Question Number : 134 Question Id : 4509386374 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time : 0

Lithoum forms an alloy with *X'. Thos alloy 15 nsed to make amaour plates. What s X7
& - i Y - [ W "'!'-\.-' L
SB0ho X & DyjF a0y M0, S g &) STed Soirh
Siohdo & eadirhard. X a6
Options :

.

et
i“-“m_“--- (A B L 1 o &8 R L L R & A 3 L B I N A R L J A &8 & R 2 3% R 1. R L _B QL_Q& A R L L A& 4 R & L L B 4L 4 2 _F_ A& 4 A & R L _ &R _J2_ R Q4 % L & R _R_J2 L .} “-"-‘

P . . - . . . .

e e



Mg
Pb
2. 8
Al
3 ®
Cr
4

Question Number : 135 Question Id : 4509386375 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

In which of the following reaction. diltydrogen is not evolved?
506 ) B35 BIMAES DG 5%¢H?

Options :

Osxidation of sedimm borohydnde with 1odine
wrA0 & Foabo S0 3r B ef %800

1. =
Hydrolysis of boranes
S0S 0 @ IO
2. =
Heating the adduct formed by reaction of amunoma with diborane
G588 & My 96 263¢ Hosdmd) 38 Sosu
3. =

P . . - . . . .
i--m-ﬂ--- (A B L 1 o &8 R L L R & A 3 L B I N A R L J A &8 & R 2 3% R 1. R L _B QL_Q& A R L L A& 4 R & L L B 4L 4 2 _F_ A& 4 A & R L _ &R _J2_ R Q4 % L & R _R_J2 L .} ---‘
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Bummeg of diborane in oxvgen

#8120 S BS0S & HoAOHE0

L

F

Question Number : 136 Question Id : 4509386376 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time : 0

Maitch the followmg

506 TR 28080

List-l (2rd)ew-D) List-11 (2 a1

Boud (230¢0) | Bond enthalpy (2308 )0 @;‘]
{inkJ mol™)

—

Al &-8 | 1 240
B C-C 11 297
C 51— 5n Il 345
D Ge - Ge IV 260

The comect anawer is

BB DEAPEPIO
Options :

A-II, B-III. C-I. D-IV

1.

AT B-IV., C-[II. D-I
.. =

A-III. B-II. C-I. D-IV
3=

P . . - . . . .
i--_-_--- (A B L 1 o &8 R L L R & A 3 L B I N A R L J A &8 & R 2 3% R 1. R L _B QL_Q& A R L L A& 4 R & L L B 4L 4 2 _F_ A& 4 A & R L _ &R _J2_ R Q4 % L & R _R_J2 L .} ---‘
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A-II. B-1. C-IV. D-Il

Question Number : 137 Question 1d : 4509386377 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Respanse Time : NLA Think Time : N.A Minimum Instruction
Time: 0

Arrange the following pesticides m the chronolomeal order of their release mio the market
Organophosphates organochlondes sochum chlorate
A B ¢

Sof Do e Trard Sofod s Sad e segirddrtiod wdth)s

& ey SFaoho §36

Lo

r

b i . o6
(ISR LAY [ZI0NY

)

A C

Options :

B.C.A

C.B.A

Question Number : 138 Question Id : 4509386378 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : NLA Think Time : N.A Minimum Instruction

P . . - . . . .
i“-“m_“-—-- (A B L 1 o &8 R L L R & A 3 L B I N A R L J A &8 & R 2 3% R 1. R L _B QL_Q& A R L L A& 4 R & L L B 4L 4 2 _F_ A& 4 A & R L _ &R _J2_ R Q4 % L & R _R_J2 L .} “-q_-‘
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Time: 0

From the followmng wdentify the groups that extubat negative resonance (—R) effect when artached

10 conpugated sysrem
iy A0 alkoxy Cyano fitro
A B C ] E

S0l 785 Sockuf; Seiaf acbodaddyd the BERS,) 1Tl (R)

Lo eenrateaeh hbodo

B
[

j@e'ﬁ L?ﬂﬂrj‘! E!t?:}g,j i .‘rila @EF
A B C D E
Dptions :
A.C.E only
A. C. E Jir|ébah
1. =
B. C. D only
B.C. D ar|éhad
-
A.D. E only
A, D, E 25edad
3.+
B.D. E only
B. D, E S5 éhai
4, %

Question Number : 139 Question Id : 4509386379 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time : 0

P . . - . . . .
i--m-ﬂ--- (A B L 1 o &8 R L L R & A 3 L B I N A R L J A &8 & R 2 3% R 1. R L _B QL_Q& A R L L A& 4 R & L L B 4L 4 2 _F_ A& 4 A & R L _ &R _J2_ R Q4 % L & R _R_J2 L .} ---‘
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A dibromide X (CyHaBr) on de]ﬁ'ﬁ'ahnlugennriun gave Y wiich on reduction with £ gave non

polar isomer of CsHz What are X and £ respectively?
8 BS DOX(CHEr) G378 FORATATS Y a0 08 YIS §ahisemo

=il =% s Ok 5 . = 5 g M, [ = - o, Y
Calre CaHy Clus) &1¢he Ardiymyn) 30006, X 58050 2 e Smm Ja?

Options :

Na /NH, (])

1, ¥

No ‘ NH; ()

A
N
NN

Question Number : 140 Question Id : 4509386380 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

P . . - . . . .
bk
E

i“-m-ﬂ--- (A B L 1 o &8 R L L R & A 3 L B I N A R L J A &8 & R 2 3% R 1. R L _B QL_Q& A R L L A& 4 R & L L B 4L 4 2 _F_ A& 4 A & R L _ &R _J2_ R Q4 % L & R _R_J2 L .} ---‘
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The diffraction pattens of crystallme solid gave a peak at 26 = 60°, What is the distance {im e
between the layers which gave this peak?

(A of Xerays 15 1.54A) (sim 30°=0.5, sin 60°= 0 866;n=1)

28 5838 DT DA ddarare 2.8 980 (peak) 20 = 60° 58 DEB08.
& T &0 Boe S GRG0 (m &) Jos? (30 1 dend 1 544)
(5in 30%= 0.5, sin 60° = {866 n=1)

Options :

8.89 » 107°

B.89 x 1071

1.54 x 1078

1.54

Question Number : 141 Question Id : 4509386381 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time : 0

The concentration of 1L of CaC'0s solution is 1000 ppm. What is its concentration m mol L

(Ca=d0n,0=16u.C=12u)

IL CaC0; (Csdeas Peded 1000 ppm. T°0) ehéd mol L1 o0 ey

(Ca=#Hw0=16uC=12u

P . . - . . . .
‘--"-ﬂ--- (A B L 1 o &8 R L L R & A 3 L B I N A R L J A &8 & R 2 3% R 1. R L _B QL_Q& A R L L A& 4 R & L L B 4L 4 2 _F_ A& 4 A & R L _ &R _J2_ R Q4 % L & R _R_J2 L .} ---‘
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Question Number : 142 Question 1d : 4509386382 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : NLA Think Time : N.A Minimum Instruction
Time : 0

Ar293 K. methane gas was passed mto | L of water, The partal pressuve of methane 15 1 bar, The
mumber of moles of methae dissolved m | L wazer s

(Kg of methanz = (14 kbar)

MK SE, 11 DB D8 NPT Fofnded Hodoord, HE T PEE Sehddn 1 bar

| LSS 560 ES 30S & Sos Jod

(0 3 K= 0.4 kbat)

Options :
1.38
1. &
1.38 x 10~
L.
.

P . . - . . . .
i“-m-ﬂ--- (A B L 1 o &8 R L L R & A 3 L B I N A R L J A &8 & R 2 3% R 1. R L _B QL_Q& A R L L A& 4 R & L L B 4L 4 2 _F_ A& 4 A & R L _ &R _J2_ R Q4 % L & R _R_J2 L .} ---‘
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1.38 x 1071

4, v

Question Number : 143 Question Id : 4509386383 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time : 0

The E9 of MM ICu™(Cu is 0.3 V At what concentration of Co'in mol L), the E value

2303 RT

= D.ﬂﬁ] (Conc.of M** = 0.1 M)

F

becomeas rera” (

MMTICEICe G0 £8 Dend 03V, o O ek (mol L 363 ) 258 Fo e ooy
T

2303 RT

= 0,06) (M?* kb = 0.1 M)

Options :

109

107®

ln—Il

10-10

P . . - . . . .
i“-m_“_--- (A B L 1 o &8 R L L R & A 3 L B I N A R L J A &8 & R 2 3% R 1. R L _B QL_Q& A R L L A& 4 R & L L B 4L 4 2 _F_ A& 4 A & R L _ &R _J2_ R Q4 % L & R _R_J2 L .} “-"-‘
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P . . - . . . .

Question Number : 144 Question Id : 4509386384 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Ar 298 K. for a first order reaction (A—P) the following graph is obtainad. The rate constant

(™) and initial concentration (in mol L) of ‘A’ are respectively

(y=anis = Infa=x); x-axis = time m sec)

13K 56, 2.8 (ciel [Seir0d 13555 (4—P) 1306 M o2loDod, Dtn Aroshn

(s106) 00 ‘A SOTAS (mol L1 06 SHaT S0

(788 0 = hfex) 7008 0 = 500 RELed)

v
|
-2.303 .
Slope= (107}
i

Options :

2.303: 107t

1. =

10°2:. 2.303
Z. "

1071 1072
3. .

1072, 10t
4,V

i“-m-ﬂ--- (A B L 1 o &8 R L L R & A 3 L B I N A R L J A &8 & R 2 3% R 1. R L _B QL_Q& A R L L A& 4 R & L L B 4L 4 2 _F_ A& 4 A & R L _ &R _J2_ R Q4 % L & R _R_J2 L .} ---‘
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Question Number : 145 Question 1d : 4509386385 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Gven below are two statements

Statement-I: Easily liquefiable gases are readily adsorbed

Starement-[I: Adsorpnion enthalpy toc plvsisorption 15 less comparad to adsorphion enthalpy tor
Chennsoption

The cormact answer is

1Bod Dot arpmeen Tl 1000

Tl nesdiom | Sarenr 78 Faindgen snedor s hae Todhmon

Foi- T 785 ebiNend e65he o)y, ekl soianedd
aATaem Jorrd)) ot s

i 'j@tf CATNEAY

Options :

Both Statement-1 and statement-11 are correct

ST 550 2-1 20O T - Do 0QR SR

1, ¥
Both Statement-] and statement-11 are not correct
oo S0 -1 o0 O CIN o° 52 3-T1 DO QOGN 5%
r
Sratement-1 15 correct bur statement-II is not correct
i35 O0QDAS 570 ariws-N DOGHAH 5
B
I'-L H

P . . - . . . .
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Statement-I 15 not correct but statement-II 15 correct

& 120 5-1 OQHAE 3¢ 50 TR E-I OGO

Question Number : 146 Question Id : 4509386386 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : NLA Think Time : N.A Minimum Instruction

Time: 0
The validity of Ereundlich isotherm can be venfied by plotring
Eraod) Sarats Srdsdad 2 S e Deriddo 5o Aonard

Dptions :

A . i
lﬂg; on yv-axis and log p on x-axis

y-295 0% lugi a0 000 x- 285 030 logp

1. ¥
r .
— On y-axis and p on x-axis
j..f—-‘:'—‘El_S_':.‘}'_n_.} % a0 x- %'E_G:;_'J p
i
x
log — O X-axis and p on v-axis
x-855 0% Iﬂgi ~nOdivy- 503 p
3: -
x » i
— Ol X-axis and log p on y-axis
%-205 0% é 0080 y- 5 0T legp
4
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Question Number : 147 Question 1d : 4509386387 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Which one of the following sets 15 not correctly matched?

Bod HereS HOM SISO IOT
Options :

Cupnite, haematte — oxide ores

5331 6, TFHOBE) — e85 maren

‘I_ "

Calamine, sidente — carbonate ores

S0, S — 58 )70 ndeEren
2. =

Magnetite, malachite — silicate ores

ST Tadd, SreEd - HOZE nlzren
< B

Sphalerite, fool's gold — sulphide ores

OB, D) D - 816 DAEen
4. B

Question Number : 148 Question 1d : 4509386388 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
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When chilorme reacts with hot and cone, NaOH. the products formed are

36 500050 T NaOH & S65 156 Tobdidh S8 dh [Sairamren
Options :

NaCl. NaClOs:. H20

NaCl. NaOCl. H:0

NaCl. HaO only
NaCl. H,0 2 ébzh

NaQCl, H2O

Question Number : 149 Question 1d : 4509386389 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time : 0

Idenrify the basic oxide from the following

1505 o783 ool 50 &5 36 o MHEothan
Cptions :

Cra0s

CrOa

E--ﬁ-ﬂ-—- & F & T F n F F & Fr §F & §Fr F & Fr 8§ F F & FrF §FrF B F §F N F B F FF N F N T E N B N FF BN EF N B F EF O N N N F N EF B N ¥ F N N N N O -y
B
&
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Question Number : 150 Question Id : 4509386390 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : NLA Think Time : N.A Minimum Instruction
Time: 0

Which of the tollowing does not show optical 1somerism?

180D 35 DB Gt AT IR CIrHGH?

o

Options :

Cis — [Cr Cls(C204)3]3~
R — [Cr €l (€204),1%

'| -
[Pt Cla(en)a]**
2.4
[Co (NH3)3(N Dzh!
3. W

[Cofen)s]*

Question Number : 151 Question 1d : 4509386391 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : NLA Think Time : N.A Minimum Instruction

Bl B F B g g g e = Y
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P . . - . . . .

A polymer X is biodegradable and 15 obtamed from the monomers Y. 7. What are Y and 77
28 POS0 X A8 cord) 855808 HBW ¥, 2 Trdab e dod odod. ¥

an0oin Z 20 !

Options :

COOH WWGH
i N " OHN

‘| -
CH;
/I\ N AN A .
HaN COOH ' H:N
. &
HHIHHWHJIMH“CDGH ffHHHWJHHMHHCGDH
OH OH
3, % .
OH
)\/E'D{)H
' /\l/\CDDH
DH
4. v

Question Number : 152 Question 1d : 4509386352 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : NLA Think Time : N.A Minimum Instruction

Time : 0
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Which of the following 15 an eszennal ammo acid?

808 a8 DO 2.5 @598 DINeS’ 85007
Options :

CO0OH
HN - H
CH;

COOH
HaN——H
CH.OH

COOH
HaM——H
CH{CH1}z

COOH
HN——H
CHaSH

Question Number : 153 Question I1d : 4509386393 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time ;0

Whiich of the followng hormone 1 responsible for prepanng utens for peplantation of fertilised
epg!

e b L ol X
08 2 FON J0f8ddd womd)y MGpS aodded Minods

Stsvhéunh?

P . . - . . . .
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Options :
Estradiol
JNSTrS
1. %
Progesterone
2.
Testosterone
AT ot
q, -
Thyroxin
ek RIN
dq. =

Question Number : 154 Question Id : 4509386394 Display Question Number : Yes Is Question
Mandatory : No Caleulator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Idennity the correct set from the following

508 63 dhod Q8QDhS Manad MmBodod
Options :

Pemcillin - narrow spectnumn - bactereostatic

2DRAS — ever ) 8aires ;€ DS — A sdSed DFA0TH
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Chloramphenicol - broad spectrum - bactereostatic

Sora 0SS - e Sdireé % D)y - a7 s 80 DEG0TH

Ampicillin - — narrow spectrum - bactericidal

DODVOS — wer )y Bcires ;8 DD — A E S DoBd

Ofloxaci — broad spectrum - bactereostatic

.55 55 - AEEarsE DOy - B850 dEReT

Question Number : 155 Question Id : 4509386395 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Respanse Time : NLA Think Time : N.A Minimum Instruction
Time : 0

Chlorobenzene (X) when reacted with rengent ‘A’ gets converted to phenol (V). The major product
obinmed from miration of X gets converted to prmtrophenol {2} by reaction with reagent B. Wit
are A and B respectvely?

SOT0AS () b T80 A & i 2 b HTd (1) T arnded. X
gy Bhas S D610 Ao A ) $080 B & Bl e
PR 0 () PTG 000, A ST B £ SHST e

Options :

A=()NaOH. 623 K. 300 atm (u}H: B=(i)NaOH. 43K (iWH

%

A=(1)NaOH. M43 K (n) H: B=Hy0. A

P . . - . . . .
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A=) NaOH 323 K (n) H; B=(1) NaOH. 443 K (n) H”

A=)NaOH, 623 K. 300 amm (n) H: B=H:0. A

Question Number : 156 Question 1d : 4509386396 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Match the follewing reachons with the product obtamed from them

List-I List-II

A | Sanchnever reaction I | R

Finkelstein reaction T |R-F

C | Swarts reaction Il | Ar-Br
IV |R-Br
1808 Bdied laod eodhdh; adimTod 2anahod
i AR &1

A [arob Dobbas | 1 |RI

B (D080 Rwg; | I |RF

C |*rs8) 0508 Il | Ar-Br
IV [R-Br

Options :

Adll, Bl C-IV

-
4
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-

A-TII. B-IV. C-II
3, N

A-IIl. B-l. C-II
4,

Question Number : 157 Question Id : 4509386397 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : NLA Think Time : N.A Minimum Instruction
Time : 0

What are X and Y respectively in the following reaction sequence?

1808 5T (5005 X S00i0 Y &0 SR D)

= (Oxnne - |

N 5y N

Options :

NH:NH:. CsHsSOxC1/ Pyridine
NHoNH2, CgHsSOCL/ 23845

L
NH:NH>. (CH3iCO)RO

2. .

3. ®
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NH:0H. CsHsSO:Cl/ Pynidine
NH:20H., CeHsS0:Cl/ DBES

NH;0H. (CH3;CO)R0
4. v

Question Number : 158 Question Id : 4509386398 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time : 0

Armange the following 1n decreasing order of their acidity

Bo8 a0 78 adidjo 81 E08 abdiod

COOH COOH COOH
\ B C
CN I NO,
Options :
C>B>A
§i ™
C>A>B
2.
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Question Number : 159 Question Id : 45093863599 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time ;0

What are X and Y 11 the following set of reactions?

Eod B0 HBS' X HBC Y &) 7

NN o N o

” i e— ——rr :I

Options :
X=(1) DIBAL-H (n) H:O Y ={1) DIBAL-H (u) H:20
1, ®
X = Hy/'Caralvst Y = Hy/ Catalyst
X =Hy/t| B 550 Y = Hy ¢5(&B 080
.
X = Ha/ Catalyst Y =(1) DIBAL - H (u) H:O
X= HySs|@ 380  Y=(1) DIBAL-H (ii) H:O
3.
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X=()DIBAL-H (n) HxO Y = Hy Catalyst

X =(1) DIBAL-H (1) H:O Y =Hy (@8 080
g =

Question Number : 160 Question Id ; 4509386400 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time : 0

An alkyl halide C3HACL on reaction with a reagent X gave the major product Y (CaHN)L Y on
hydrolysss released gas. which nems red Litooos 1o blue. What are X and Y72

14 eB)0 A CHCL $80 X & S8 Y (CHN) b s 80
20200, Y 2005208 OB Toineg 8 Hegh & A8 dorm 08,00, X

SBcin Y ey I

Options :

KCN/CIH5OH.

1. W
N o)
KCN/C:HsOH.
2.
N i
AgCN/C2HsOH.
3 8
NHE
AgCON/CaHsOH.
4 ®
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